RT 850

EN| X ]

2 (BSOmmiic X D
950 mm

4 1100 mm{|

()

A= i i

%:Q“S Tha RT 850 Is 8 double acting door closes which ks
Instadlad inside the transom above the door.

e RTESG ekt un ferme-partes double-action qui est -

™ Iatalid 3 Peblelow de ks thmescns

Preparation of frames/vertical jamb. Dril and tap 5

babos 6z insiall the o

Priparition du morkest eatical, Reroee S ‘trous poor
Ia fhration de Péquerre de montage.

Install cover plate into frame with two No. M4 flat
2. Fasien two M6 X 15 Rat head mactine scrows head machine screws.
10 header with fock washers and nuts.
3. Instal] two fillkister head machine scrows into Installez ia plaque de recouvrement et ka fixer avec
mounting tehs on closer. les deux vis M4

1 FosBionnes ke fenne porte: dans Fsqene oe
Fouznon

2. Fnez les 2 dres vis M6x15 + rondedes et

thertns,

3. Termipez 13 Mxation dis farme parte par jes 2 vis
ooté gauche

Systemtechnik Fir Die TOr ECO Schuite GmbH & Co.KG /lssrohner LandstraBe 137 /D- 56708 Menden / Tl +49 2373 92768-0/ Fax +49 2373 927640 / waw.800-schulle.do 1/ 2




T Dot Gl b NG T

)
ECO

Wi hinge stia acoording ¥ tha dnewing, & W <51
i nadel s provided for skde-load Inetal
inticie he oo for pocess I closer,

Entalfier dans le haut du montant une ouverture de
16mm % 57t efin demboler latéelement Ja.
penture haule

“percer jes Uous-powrrai du fevier, ta-pertie-dedo
porte au sl ainst que les ous de Bmm de Ia face
it

i

] -3 i

iz
r—
dr-afe [GIX0] /

. Y

paint mark in the chanmel and adjust position with
screw .(70mm from side frame)

positiorner i penhire dans By déooupe da phot e
afustor & faide di ta vis (20mer die prall}

iy

= =1

| Propare the top of the door sacording 10 the tomplato,
1.FTt stoel arm chamiel fo the door top radl using the 4
No. M cak screws.

2. fnate¥ two hax hisad afignment screws Indo doser
.

3: Phaod tho-am o the-channel; ming bolir sarews
counisrciockwise untll they are wedged sgainst door
chawnal

4. Secure aim Into place with Rat head scrow end flat
washer .

52 Prapars the botiont of the door-auoonding &5 e
template. Fasten door portion of bottom pivot with three
Mé pan haad maching strews,

préparer i partie supé da la porte conk 1t
ey
1. fbation de fa glissidre sur fa partie supéricure A Faide

i 4 il MB
2. mise en piace de 2 vis 6 pans sus fe ferme-porte

4. séourisation du bras & 'aide des vis et des rondelles
5. prégaration: du bos dela porte selon le dessin.
| Focation dks pivot au sol & Paide des 3 vis M6

@ﬂ’

o | LD

19

Systemtechnik Fir Die TGr ECO Schultle GmbH & CoKG /fisetiohner Landstrafte 117 /D- SB706 Meaden / Tel.+49 2373 82760/ Fax +49 2373 $276-40 / www.eco-schults.de 2/ 2




